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QLA Fill in the blanks (Any 8)

. means the transfer of all rights
matier of insurance.

8 MARKS

and remedies with respect 1o the subject

“a) Savings b) Subrogation ¢) Insurance d) Risk mitigation.

i In decreasing term insurance, the premium

paid overtime.

a) Inurcase b) Decrease ¢ Remain Constant d) Are returned.

tii. Using the conversion option present in a ¢!
0

v, Full Form of KYC
@) Now your customer b) Know your cust
you customer.
v The Full Form of TPA i
a) Third Party Administration b) Thir

Two Party Association.
vi. Top-up cover is an healt
d Omad

a) Add Out b) Add Surplus
vii. Home insurance provide inst

a) Building Only b) Conteal ¢
Vil SBI General:

plan.

a) Boss Acci
ix. The Workmer's {

a) 1947 b) 1952¢) 1945 d) 1923
«  Property can be insured on :

u) Depreciated cost b) Replacement cost €

nce for
uilding a

Q1. B) State whether the following statements @

rm policy you can convert the same

a) Whole life Policy b) Mortgage Policy ¢) Bank FD & D@ term policy

omer ;%uw%‘r customer d) Known

d@ir ¢) Two Party Administration d)

nee cover.
Add off

nd content d) Building and strmeture.

rprivale ¢an msurance provides a compulsory

rofessional Accident €) personal Accident d) Family accident.
mpensation Act was formed in

) Appreciation Lost d) Purchased cost.

re True or False: (Any 7 7 MARKS

i) Death benefit amount decreases with the term of coverage.
1) Premium remains same level throughout the term.
{i) ULIPs are bundled-products.

. M"Huﬂmmmmecmmrsthe damage of cargo.
¥ “Through online aiso insured person can apply for cashless treatment.
fﬁ;ﬂaﬁﬁﬁmﬁﬁrﬁ; 3ew¢:ls-,.,¥a-luabl_c'slu_'na's_ will cover under head of conients.
viiyIn case af;ac,_u_-.mleﬁfcra-im. FIR document is not

necessary. |
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